






2. . 1 (1+) = 2 . 5million

-

-

x - xx 5 = 391

x = $460
cors

85 % = 391

100% =
x00 = 460





-

-

x(l +2) = 30

120 % = $30 (or) 2
=$25

100% = $25

xx 5 = 72
x = 96

(or)

75% = 72 people

100% = 96 people



-

I
=
Prt
-

100

= x2x8

100

= 969

84(1 +5) = 88 . 2

Cors

84 x 105% = 88 . 2



-

I = Put
-

100

= 50x2 .5x5 = 93 . 75

100 I

total amount = 843 . 75$

= 15

-

9 x 1 . 3 = $11 .7



-

PutI =
-

100

= 750x2x8
-
100

= 120$

8 + 59

9 hours and 12minutes
-






















